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1 Which of the following properties is not satisfied by an electric
charge?
(a) Total charge conservation. (b) Quantization of charge. (c) Two
types of Charge (d) Circular line of force.
T B 1 7T fIegd 3w J Gy el gir 82
@ Wmm&m (&) IHR BT AT (c) &l FPR & A (SI) T D
gfarg @
2 Which one of the following charges is possible?
(@) 5.8 x 1018 C (b) 3.2x1018C  (c)4.5x101°C (d) 8.6 x
10-19 C
frafafea & & & w1 fagyga omdw ¥ya g2
(@) 5.8 x 1018 C (b) 3.2x 1018 C (c)4.5x1019C (d) 8.6 x
10-19C
3 If a charge on a body is 1 nC, then how many electrons are present
on the body ?
(a) 6.25 x 1027 (b) 1.6 x 1019 (c) 6.25 x 1028 (d) 6.25
x 1011
e fpft fis R 1 ne 39 8, a fis W e sage ANg 87
(a) 6.25 x 1027 (b) 1.6 x 1019 (c) 6.25x 1028 (d) 6.25x
1011
4 Three capacitors each of capacity C are added in series connection.

Then the equivalent capacitance will be _
a. 3C
b. 3/C
c. C/3
d. 1/3C

JUTHEH H YA® &HdT C &b A9 HARICR SIS 9 &1 a9 Jeg o1iar grft _

a. 3C




b. 3/C
c. C/3
d. 1/3C

SI unit of self inductance is
a) Joule b) Coulomb c¢) Weber d) henry

TIURYT BT SI HHS §

a) Joule b) Coulomb c) Weber d) henry

The direction of the induced current in a circuit is always such that
it opposes the cause due to which it is produced. This law is named
as:

a) Ohm’s law b) Lenz's law c) Kirchoff's law d) Faraday's
law

forat afvoy & ORT urT Y f=m gaen T €1 ® & a8 SO &R &1 fakly
B & fo P PRUT 98 IAF gidT 81 39 999 &1 91 &
a) 3N &1 90 b) A1 FT 791 ) fai®s &1 faw d) HRrs &1 o

The electric flux (in Nm2C-1) for Gaussian surface that encloses the
three charged particles in free space is (given ql =- 14 nC ,q2
=78.85nC, q3 = -56 nC)

(@) 103

(b) 106

()  6.32x 103
(d) 6.32 x 106

T TdE & e ey warg (Nmec- 8) S e 3Mafdrd ol &1 a7y
fale HeRarg W T q1 = 14 nC ,q2 =78.85 nC , q3 = -56 nC)

(a) 103

(b) 106

()  6.32x 103
(d) 6.32 x 106

Two parallel conductors carrying current in the opposite direction
will

a) Attract each other

b) Repel each other

c) Neither attract nor repel
d) None of these

faRid fa=n o $ie o 9F ard &f JHHIR dTeldh
a)@ﬁ%ﬁ%ﬁﬁﬁ

b) T T B! UfAH T BRI

c) 7 a 3w ifd B3 3R 7 g Uiy g

d) 399 I B 7N

Unit of magnetic field is
(a) Wb m? (b) Wb/ m?2 (c) Wb (d) Wb /m

o1 &5 B IBTS ©

a) Wb m?2 (b) Wb/ m?2 (c) Wb (d) Wb /m
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Which material has highest electrical conductivity?
(a) Copper
(b) Aluminium
(c) Iron
(d) Silver
for uaref ) fagga areierar IeR Sifie gt 82
(a) <TaT

(b) TgffATy
(¢ Tt
(d) TGt

A point charge Q is placed in an electric field E, the force experienced
by the charge will be

(a) Q/E

(b) QE

(c) E/Q

(d) 1/QE

gﬁﬁg&ﬁﬂQaﬁﬁ@aﬁEﬁWW%, 3{TART GRT 3Hd fobar a1 5

(a) Q/E
(b) QE

(c) E/Q
(d) 1/QE

Ohm’s law is valid when the temperature of conductor is :
(a) very low

(b) very high

(c) varying

(d) constant

3 T AW a9 A= 81T § SId ITeleh T aTuH gidl &

(a) d9gd P H
(b) g 3iferh

(c)
(d) RRR

A parallel plate capacitor has two square plates with equal and
opposite charges. The surface charge densities on the plates are +o
and - o respectively. In the region between the plates the magnitude
of the electric field is

(a) o/¢o

(b) 0/2¢e0

(c) 0

(d) none of these

T JHFIR Wi JYRa & A SR fIuda oo arelt & iR

W B ¥ Wel R Tdg M1 9 HR: +0 3R - 0 §1 Wel &

& & H faqgd & 1 uRHAT gl 8

a) o/eo

(b) 0/2¢e0

(c) 0
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(d) T A DS &N

A parallel plate air capacitor has a capacitance C. When it is
completely filled with a dielectric of dielectric constant 5, the
percentage increase in the capacitance will be
(@)100% (b) 50% (c) 500% (d) 200%
TP JUHIR W TR FURTER BT HURied ¢ §1 919 g IRTAgd
fRRI® 5 F WAYd ¥ [ dRE W oraT 8, @ FURe ¥ yfawa i3
gt

(2)100% (b) 50% (c) 500% (d) 200%

The flux linked with a coil at any instant f is given by
$=10t> —50¢+250 . The induced emf at a #=3s

(a) —190V (b) —10V (c) 10V (d) 190V
foreit off &ror et ¥ ST v gRT faar S g1 ORd SUHTW £=3s a)W®
~190V (b) 10V (c) 10V (d) 190V

The Kirchhoff’s first law (£/=0) and second law (X/R=XE)

Where the symbols have their usual meanings, are respectively
based on.
(a) conservation of charge, conservation of momentum

(b) conservation of energy, conservation of charge
(c) conservation of momentum, conservation of charge
(d) conservation of charge, conservation of energy

fo=its &1 ugal (199 (2/=0) SR g1 79 (S/R=3E)

S8l Ueliepl b 310 I 31 Bld ©, 9 R TR SMURd 81 g

(a) TTST T TREOT, TT(T BT TREfTT

(b) Sl BT TREUT, ATS BT TREUT

(c) AT T TR, ST b &I

(d) STTATT BT TREITT, Folt DT TRET

The specific resistance of a rod of copper as compared to that of thin wire of
copper is :

(a) less

(b) more

(c) same
(d) none of these

dis & Tda IR B gaT H did Bl S o1 ARy uferly g
(a) PH

(b) 3ffP

(c) F&t

(d) 79 9§ PIs TaT
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A magnetic needle, free to rotate in a vertical plane, orients itself
vertically at a certain place on the earth. What are the values of

angle of dip at this place?

a) 90° b) 0° c¢) 45° d) 60°

TF 99019 I, U SR Tel § gA- & oY Wod, gedl W T Mg M
W d9ad ©U ¥ 37F it 81 3 R W TA4 HI &1 A HT g2

a) 90° b)0° «¢)45° d)60

The earth behaves as a magnet with magnetic field pointing approxime
the (a) North to South (b) South to North (c) East to West (d) West to E
g U G B! dRg TIER HRcll § oI aDIT & T (a) STR U G0
S0 ¥ W BT 3R (o) Td T Uy & 3R (d) U ¥ gd @t 3R BT @

The strength of the earth's magnetic field is
(a) constant everywhere
(b) zero everywhere
(c) having very high value
(d) vary from place to place on the earth surface

& & gaD T &F DI GRATT §
() 8% o'Te fRRR
(b) B STE YA

(c) §gd 3fYP A arat
(d) Tt BT TdIE R TP VI ¥ g /M R 7 i1

The energy stored per unit volume between two plates of a parallel
plate capacitor will be

a) (1/2€0)E
b) (2 €02)E
c) (¥ € 02E2

d) (% €0)E?
TP JHR e JYRT &) &) Wiel & g Ufd 3pTs 3aa- | Ifrd
St gt

a) (1/2€0)E

b) (% €02)E

) (% €02E?

d) (% €o)E?

Ratio between total intensity of magnetic field at equator to poles is
(a) 11(b)12(c)21(d)1 4

YAe X6 R Ydl W JePb1g &8F B $d gl BT U §
(@ 1:1(b) 1:2 (¢)2:1 (d) 1: 4

Which of the following velocity of the electron determines the current
through the conductor

a)drift velocity only

b) thermal velocity only

c) bothaandb

d) neither a and b
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gAde &1 g & V D19 1 37 I & AregH ¥ URT Auid Har g
a) HId YA

b) Had YHT I

c) AFI A 3R B

dTdMAANRB

Copper and germanium are cooled from 50°C and room temperature
(20°C). the resistances will

a) copper increases germanium decreases

b) copper increases germanium increases

c) copper decreases germanium decreases

d) copper decreases germanium increase

PR 3R THATH BT 50°C 3R HH & dGHME (20°C) I 38T foodt ST B
gfeRIY B3

a) ST BT FaT & SIHaH BT Hedl §
b) TS BT TGl § STHIH T Jgdl &
c) IR BT gedl § THATH BT °edl §

d) PR BT gedl § THIH BT gadl &
Figure shows the current in parts of electrical circuits, then current
Iis equal to

2A 1A

L,
<

a)l.7A  b)3.7A 01.3A  d)1A
forr fagga ikl & Wil § o7 fa@man &, @ fagd uRT1 SReR 3
a)l.7A  Db)3.7A 01.3A  d)1A

A current carrying power line carries current from west to east. What
is the direction of magnetic field 1 m above it?
a) north to south
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b) south to north
c) east to west
d) west to east

U fagd aRT o 9 arelt foofelt drgH ufgd @ gd &1 3R 1R Yalfed
TR g1 3TF 1 Hex W a1 & Bt f3=m a1 g2

a) 3R REATAW

b) GfE0T ¥ IR

c) Uﬁ ¥ ufgm

d) Ufgq ¥ gd

Magnetic field due to a toroidal solenoid is independent of
a) its numbers of turns

b) current

c) radius
d) none of these

TF NS WaHIss & HRU ga g &F Wad §

a) 3 GHTG! DI TISAT

b) faga e

c) B

d) 39 ¥ BIS TeT

A charged particle moves through a magnetic field directed
perpendicular to its direction of motion. Which of the followings
quantities of the particle will not changed

a)momentum

b) speed

c) velocity

d) all of these

T ARG BT 3O 1S H1 =M & daad AR awbrg & & mem 3
Iad 71 ®0 o1 Fafafed 3 @ o9 @l 78 searh

Q) T
CHRIIG
M) o
) g gt

The force on a current carrying conductor in magnetic field is
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maximum when angle between current and magnetic field is
a)zero

b) 45°

c) 90°

d) 60°

Wmﬁmwww SRIBaH BIT & 919 URT 3R gapbig &3
& JH BT B0 gl 8

a)zero

b) 45°

c) 90°

d) 60°

Two thin, long, parallel wires, separated by a distance d carry a
current of  ampere in the same direction. They will

(a) attract each other with a force of e L

(270)
£ ,Uolz
(27 d)

ﬂol
27d?)

(b) repel each other with a force o

(c) attract each other with a force of

£ /Uo/
(2rd)
3l dd, o, AR dR, d g1 9 3T fhT U 1 TR & URT &I T B
feer ¥ @ S g1 3 8
(a) U IR BT . %w%wawﬁawﬁ%(ﬁom
T

(b) P 5 P TIY TP W B! Yy ia ol
(27 d)

(c) P & & 1Y T TTX Pl Ab¥d Hd & fol” .
2zd)

(d) P 5 P TIY TP W B! Ufddpia ”0/2
(2zd")

(d) repel each other with a force o

The magnetic lines of force inside a bar magnet
(a) are from north-pole to south-pole of the magnet
(b) do not exist
(c) depend upon the area of cross-section of the bar magnet
(d) are from south-pole to north-pole of the magnet

T OR RID b IR Bl bYWV

(a) I8P b ITR-ya1g A STy §

(b) ST T &

() 9P & IAJUKT BIC & &Fhd R R
(d) G o TI&UI-Yd F ITR-4d qD

Current from A to B in the straight wire is increasing. The direction
of induced current in the loop, is
(a) Clockwise (b) anticlockwise
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(c) Changing (d) nothing can be said

I IR H A 9 B d% URI 9¢ 61 81 U H ORd yr1 1 fa=m @

(A) Gférumad (B) aTHTEd

(C) F&aT (D) $& I 75T FT o Ihll &

If number of turns in primary and secondary coils is increased to two
times each, the mutual inductance

(a) Becomes 4 times (b) becomes 2 times
(c) Becomes Y times (d) remains same

e Uit iR fgdtas pusfaal o gamEl o I &I SR af T R faar
ST 8, off TR SHRrgTo=

(a) 4 T[T 81 ST & (b) 2 T[T &1 o1l ©

(c) ¥ SR & 9ITdT § (d) Il IgaT §
Why the current does not rise immediately in a circuit containing inductance :
(a) because of induced emf
(b) because of high voltage drop
(c) because of low power consumption
(d) because of Joule heating

< T g o R e gt e
(@) ORka fIEeT aT8h a1 & RO

(b) 3= dlesl ST & HRUI

(c) PH faoTeh P! T@Ud & HRUT

(d) S[c ATYT & BRI
When three identical bulbs of 60 W, 200 V rating are connected in series to a 200 V
supply, the power drawn by them will be:
(a)20wW
(b) 60 W
(c) 180 W
(d)iow
STd 60 W, 200 V 3T 3 ofiF THH e 200 v &1 YT T YBATH IS B &, ol
(a)20wW
(b) 60 W
(c) 180 W
(d)iow



